o000 oobooooooooa
ooooooo

gogoboboooobooboooooboboood

000,000 (COoOoooooooooon)

0000000000000000000000000000000(@O0). 000
000000 1000000000000000000. 000,0000000000
0000000000000, 0000000000000000000000000
0000,0000000000000000000000000,000000000
00000000000:00,00000000000000000.000,0000
0000000000000. 000000,0000000000000000,00
000000000,0000000000000000000000000000

00000,000000,0000000000. hy:=0000.0k=1,...,N—1
000, O he >h; 0000000000.0k=1,...,N—1000,00 (he_1, he)
00 kO0O0,0,00 (hy_1,00000 NOOOO. Ok=1,...,NOOO, a, b, 000
0000.00 k00000000000, 004000000000000. 00
0000000,000000,000000000000000000000,0000
00000000000000000000000000000000000. 000
00000000000000000000000000000(0,00000000
000,000 [1]000):

(Wk) (87:2 B ai@i)u(t,x} =0, Zk;lhfvf1< " E: ; }\b, e 1)7

(O)  w(t,z)=0, t<0,

(B)  Ou(t,)|s=o0r0 = ¢(t) (OO, suppye N (—00,0) = 0),

(Lk)  wu(t, x)|:c=hk—0 = u(t, $)‘x:hk+0 (k=1,...,N—1),

(J.k)  arbpOyu(t, ©)|oen,—0 = @rt1bp110:u(t, )| pep,v0 (K=1,...,N —1).

0,000 (Lk)O,0002=h0000000000000,0,000 (J&)Oz=~h
0000000000000000. 000,00000000,0000000000
0000,00000000

000000: ay, by, o(t) (000000),w(t,0)(00000),

000000: N (OO0O), agbe (k=2,...,N), by (k=1,...,N —1)
000.00000,00000000000000000000,0000000000
0000000000000,00000000000000000.00000000
0000000000.00000,00000000000000000000000
0000000000000000000000. 00,000000,0100000
00000000,002=0000070000000000,0000000007T
0000,0000000000,000000000 K, 0000000000000

ho 010 020 O k0O ONO
I he——e he————
h h _ h _
o(t) > g 2 S Nt 4
oooo: a a9 ay an

DDDDDDDbl bg bk bN
63



64 00 0,00 0 (UOOoUDOUDO Doooo)

00 (e —hy1)/e, 0000000000,00000000000

000. ¢, n0OODODOOOOO. b #bjyy (j=1,...,N—1)000. T>000
0. ¢ € LY (—00,T)0 suppy C [0,7)000000,00006 >000000,00
Oee(0,6)0000 [°_¢(s)ds #000000000. 00000 v(t) := u(t,0) 0
0,7)0000000000. 000, u(t,2) 0000 (W.1)~(W.N), (0), (B), (I/J.1)-
(IJJN-1)00000.0000,00 by, (he —hee1)/a, (1< k< Ny—1)0000

gbobobooogon.
t

00 1. () := —al/ e(s)ds—o(t)000.

00 k+1 (k=1,2,...). [0,7)0 v,()=000000000,00000 k000 N,
D0000: ux(t)=0. 00, w(t)20000,0000000000

ot :=inf{t€[0,7):v(t)#0}000.

e 00000 (hy — hy)fan, b 0000

k—1
hie— iy te 3 hj = hj
ay 2 s a; ’
k—1
22k_1a1 H bjbj+1 — lim Uk(t)
o1 (bj +bj11)?  t=tt0 f::“ o(s)ds
b1 = 1 b
9214, bjbj+1 lim vk (1)
o (b bi4a)* =t [T o(s)ds
hi hy —h hy — hy_
o vpp(t) = vi(t) + 9" (t;a1;b1,.--,bk+1;—1, L 1;T) 0o
aq (05} Qe
0,0000000.000,¢90O,
hy hy—nh he — hg_
g(k) <t;a1;b17"'7bk+1;_17 2 17"'7 i k17T>
aq a9 (053
= —2a, Z Vg1 (ma, ... ,my; by, . D)
0<m;<oo (1<i<k), k ho—hi
ion;nﬁiﬁki<l 2 T
2 mi a =32 X o(s)ds

000000000, 000000000000000,00000000
(e 00000000 [20000000).

U,ggd,bboooooudooog,bbooooodgag 1obboooobbb
0000000000000 2boo000,00,00000D0ooooUoobooo
O,00bboobooboobobobbg,bboobooboobbooboobo
oood,10b0000bo,o0bboooboobboobboobboobbod
gboood.
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